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Al al-BAYT Macroeconomic Student Name

UNIVERSITY
Faculty of Economics Second Exam (20 Points) Seat Number
Lecture Time

Part One: This part has20 multiple-choice questions and you need to circle the
correct answer.(20 marks)

1- Behaviors that done by the central bank to control money supply called:
(a) fiscal policy (b) monetary policy (c) mixed policy (d) tax policy

2- At Only one point along the aggregate demand curve, the aggregate quantity
of output demanded is exactly equal to planned expenditure.

(a) True (b) false
3- Aggregate demand falls because of:
(a) Increase in price level (b) Rises in demand for money
(c) Increase in interest rate (d) all mentioned

4- At the economy capacity the As curve will nearly be:
(a) Flat (b) Horizontal (c) Vertical  (d) steep

5- one of those caused AS shifts to right:
(a) supply side policies  (b) higher cost (c) over regulation (d) higer input
prices

6- suppose that MPS-0.15,MPM-0.10,then the open economy multiplier is:
(a)5 (b)4 (c)6 (d)5.5

7- by using the information in g6, the tax multiplier is:
(a5 (b)-5.5 (c)-5.60 (d) 5.67

8- the market equilibrium can only be achieved when the saving equal to
investment .
(a) True (b) false

9- suppose that ca=100, [=150, G=150, T=100, MPS-0.25 and T-0.30, then the
equilibrium income in an economy has three sectors and there is a proportional
taxes is

(a) 842 (b) 860 (c)850 (d) 900
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10- By using the information in q9, if taxes increased by 50, then the

equilibrium output will be decreased by:
(a) 100 (b) 50 (c) 150 (d) 200

11- Multiplier in an open economy is greater than it in closed economy.
(a) True (b) false

12- Balance of payments is among components of balance of trade:
(a) True (b) false

13- As output falls, the unemployment will be:
(a) rising  (b) falling (c) decreasing (d) fluctuating

14- economic fluctuations are regular and predictable.
(a) True (b) false

15- If multiplier is 5 and investment increased by 150, then the output
equilibrium will be change by:
(a) 600 (b) 550 (c) 650 (d) 700

16- potential output means:

(a) potential GDP

(b) aggregate output can be sustained in the long run without inflation
(c) aggregate output can be sustained in the short run without inflation
(d) atb

17- Aggregate demand can be increased because of:
(a) increase in money supply (b) a tax cut
(c) increase in G spending (d) all mentioned

18- the multiplier in the case of income taxes is less than it to the case of fixed
taxes:

(a) True (b) false

19- the export in an open economy depends on a country's income :
(a) True (b) false

20- output can be pushed above potential GDP by:
(a) higher AD (b) lower AD (c) higher AS (d) lower AS

Best Wishes
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